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Step 1:Initialization

¢« egshM U pegss TlEH N TLYSHcommonld,
FhFnincludeT <L) —RU
pegscommonsT AL IK)—MD T 74 )L
% "include’ XX CTHIY AL

o EEMNLIRMEINI=DA AN —BHFRLED
A—H—a—FDH TEHRIN Hcommon
[X. auxcommonsT 4L IR )—D 774 IL%
includeX THY AL




ECHDRESDIETE

comMONTEAIN TS EHMDEFTI D KESIE.
parameter X TETE

— egS5TERAESN TLYScommonD ZE (.
Include/egss _h.f

- A—Y—a—FTOHERETNScommonD E .
auxcommns/aux_h.f

common& B L L&D (ZincludeXIZ&YEYAEN S,

BRADRESZEET HIGE (L. parameter XD E
HMELZHEITH




include 'include/egs5 h.f' I Main EGS "header" file

include 'include/egs5 bounds.f'
include 'include/egs5 brempr.f'
include 'include/egs5_edge.f'

include 'include/egs5_media.f
include 'include/egs5_misc.f'

include 'include/egs5_thresh.f'
include 'include/egs5_uphiot.f'

?nclude :?nclude/egsS_useful.f'l egs5 common [Z& £ B I 5% A
include 'include/egs5_usersc.f £ TOSSLEDTOY S LB
include 'include/egs5_userxt.f' R CE AT 2B A (. indudeX T

include 'include/randomm.f s =2 commonZ15



include 'auxcommons/aux_h.f" ! Auxiliary-code "header" file

Include 'auxcommons/edata.f'

include 'auxcommons/etaly1.f'

include 'auxcommons/instuf.f’ . . \
include 'auxcommons/lines.f' DA AN —ERFI—Y—O—F
include 'auxcommons/nfac.f' D+ THEATNSHcommon
Include 'auxcommons/watch.f'

include 'auxcommons/etaly2.f' ! Added SJW for energy balance

CGRi{& M commonT., CGE{FERITHGESICIXEICHNE(EETEL)

include 'auxcommons/geom_common.f' I geom-common file
integer irinn



include/egss h.f ;A

I Maximum number of different media (excluding vacuum)

iInteger MXMED BE (T Kb A e YD
_ . — PEOHEREPLEZWGSEIC
parameter (MXMED = 4) . COMEFEFT S,

include/egs5_misc.f A

common/MISC/ I Miscellaneous COMMON
*rhor(MXREG), dunit,
*med(MXREG),iraylr(MXREG),Ipolar(MXREG),incohr(MXREG),
*iprofr(MXREG),impacr(MXREG),
*kmpi,kmpo,noscat

real*8
*rhor,dunit

integer
*med,iraylr,Ipolar,incohr,iprofr,impacr,kmpi,kmpo,noscat



common/totals/ I Variables to score D1—H—a—FEAD
* depe,deltae,spg(1,50),spe(1,50),spp(1,50),nreg common

real*8 depe,deltae,spg,spe,spp

integer nreg

real*8 | Local variables man program't*{?ﬁﬁ
* availke,avpe,avph,avspe,avspg,avspp,avte,ekin,etot, FTAORBREDRHK
* desci2,pef,rnnow,sigpe,sigph,sigspe,sigspg,sigspp,
* sigte,tef,totke,wtin,wtsum

real*8
* ph(30),phpb(50,50),spgpb(1,50,50),spepb(1,50,50),
*spppb(1,50,50),pefpb(50),tefpb(50)



real I Local variables
* elow,eup,rdet,rtcov,rtgap,tcov,tdet,tgap

main programCERT 58
real FREDEH
*tarray(2),tt,ttO,ttl,cputime
integer main program T 9 54K

*l,icases,idin,ie,imed,ireg,isam,isot,
*],k,n,nbatch,ncaspb,nd,ndet,nlist,nofbat



OpenX

e A—H—O—Fhi, pegseEITT DI,
A =whk7-26l%. pegsT close SNHEM D, AA
27049 5L T open LTWTH. pegsEITEIZ.
HE open THCENBELLGD, TDI=6H. 2
—yh7-26DERZEHEITEHADELY,

o FREMEHRZH AT BplotxyzfDI=ykIE, 9HDS
clelful =]

open(6,FILE='egs5job.out',STATUS='unknown')
open(4,FILE='egs5job.inp',STATUS="0ld")
open(39,FILE="egs5job.pic',STATUS='unknown')




Step 2:pegss-call

 MBT—ARUVEME Dcharacteristic distance
ERTEL-& T, pegsSEcald 5,

nmed=4

medarr(1)="NAl : pegf’ﬂ’ﬁﬂi?’é%%ﬁ“—@@
medarr(2)="AL Bl pegsSD AN T—2(2
medarr(3)="QUARTZ C ZYR2ADNG A AR ) EXTIG

medarr(4)="AIR-AT-NTP

do j=1,nmed

do i=1,24
media(i,j)=medarr(j)(i:i) £ ¥1E 0 characteristic distance
end do LRMED) -3 TH, &
end do / LINEWSF A ZXEIETE
chard(1) = 7.62d0 | optional, but recommended to invoke
chard(2) = 0.1d0 | automatic step-size control

chard(3) = 0.5d0
chard(4) =5.0d0



Step 3:Pre-hatch-call-initialization

write(6,*) 'Read cg-related data’

npreci=3 ! PICT data mode for CGView in free format

iftt=4 ! Input unit number for cg-data
ifto =39 | Output unit number for PICT

write(6,fimt="(" CG data')")
call geomgt(ifti,6) ! Read in CG data
write(6,fimt="(" End of CG data',/)")

if(npreci.eq.3) write(ifto,fmt="('CSTA-FREE")")
if(npreci.eq.2) write(ifto,fmt="("CSTA")")

rewind ifti
call geomagt(ifti,ifto)! Dummy call to write geom info for ifto
write(ifto,110)

110 FORMAT('CEND")



RCC 1 0.00

7.62 3.81

RCC 2 0.00

8.12 4.31

RCC 3 0.00

8.72 4.41

RCC 4 0.00

0.5 4.31

RCC 5 0.00

18.72 9.41

RCC 6 0.0

30.0 12.0

END

Z1 +1

Z2 +2 -1
Z3 +3 -2 -4
Z4 +4

/5 +5 -3
/6 +6 -5
END

1 0 2 3 4 O

0.0 0.00
-0.5 0.00
-0.6 0.00
7.62 0.00
-5.6 0.00
-10.0 0.0
Nal
A=y 5
TILEZ) L
BHIR
TR
STERT DOHEE

00 Nal D fEiEk () %
Y EETSH-HDbody

0.0 ZERRIcNAShDHEE (FF)
EZRT ST=8hDbody

0.0 AlhN—ICREShHHESE (M
) EE&ZRT 5T=6HDbody

0.0 ZAFTILOEHSAFEE (M)
EZT S=8hDbody

0.0 ZEX0BE(ARZEEET 5=
" HDbody

0.0 #*&R£2F%EESbody



nreg=izonin

| Read material for each refion from egs5job.data
read(4,”) (med(i),i=1,nreg) £)—Sav~OMEEY L TT—2HEAAH

I Set option except vacuum region
do i=1,nreg-1
if(med(i).ne.0) then
iphter(i) =1 ! Switches for PE-angle sampling
ledgfl(i)=1 !K & L-edge fluorescence
lauger(i) =0 ! K & L-Auger
iraylr(i) =0 ! Rayleigh scattering
Ipolar(i) =0 ! Linearly-polarized photon scattering
incohr(i) =0 ! S/Z rejection
iprofr(i) =0 ! Doppler broadening
iImpacr(i) =0 ! Electron impact ionization
end if
end do

AT avDEEE



=3V BICRETESTTay

ecut,pcut (D000 0D0O0OOOO(MOOOOO)
iphter JO0odoooooooooon
iedgfl K&L-OOXOOOO

lauger K&L-OOODOOOOOo

iraylr Oo000on

Ipolar Joooogoodd

incohr S/7Z rejection

iprofr O0000oon

impacr Joooon




ELE (ranluxELER)

I Random number seeds. Must be defined before call hatch
I or defaults will be used. inseed (1- 2"31)

inseed=1
write(1,120) inseed
120 FORMAT(/," inseed=",112,5X,
* ' (seed for generating unique sequences of Ranlux)")

Bifof-iscedEBIZ, BEELULG VI BZRET HENAHE
WHHEDBESIZEMN



Step 4: ASTRIFDINTGA—F—LTE

Iqin=0 I'Incident charge - photons w7 miEsE (BE)
ekein=1.253 I Kinetic energy - . .
Xin=0.0 | Incident at origin AFOEBTFILF—
yin=0.0 ALY
zin=0.0 yalc

o | : :
3;2:8,'8 I Moving along z axis AEHTE D —S a5
winzl./
irin=0 | Starting region (0: Automatic search in CG)
wtin=1.0 I Weight = 1 since no variance reduction used
deltae=0.05 | Energy bin of response

if(irin.le.0.or.irin.gt.nreqg) then e
call srzone(xin,yin,zin,iqin+2,0,irin)
call rstnxt(igin+2,0,irin)

end if



Step 5:  hatch-call

s BEF BEFODEIRILTF—DHKER
emaxeé L TEREL . hatch # call 95

¢ L%‘J_/\If:'lﬁ *&’Eﬁ% nru\-d—%)f_&) 'hs q:%ﬁ
—ARUVE)—2a DEHREHENT D

emaxe = ekein + RM | photon

RRRFOEFOGEE . BELMITRBEEFOIRILEF—IZEFD
RLETRILF—ZMA-EZHRTET S



Step 6:Initialization-for-howfar

e« A—H—O—FTEHEARAITLIHRT—2%%
I 5
— Eir, HE. BKGEIZEATH5T—4
o CGEERALTWWAZNDA—YY—a—FTIL.
fiZARIZ F*E]_d—éT—/)"(i cgANT—42¢EL
Tstep 6LLRTICALIEL TIVAD T, CDstep
Egirgj_é;&‘iféb\




Step 7: Initialization-for-ausgab

ETETKROHLS=EDMEE. LAROADIRIL
F—EUIRDERTESF

STE I HERAM)—#(ncases) ERIB R T —4%
LRI AERR)—E(maxpic) ZFEXTET S

Set histories

ncases=10000

Set maximum number for pict
maxpict=50



Step 8: Shower-call

e ncases [8]%4 call shower Z#EL) R T,

o« ZFERMN)—E&EIZ, BRIFHRMNELDLIGE
[Z(Z. cal shower DHIIZ. #RIRIEER(FLF
DIEFE. IRIILF— NE. AR ZHKRTE
EEGE

e EXN)—RRTHEIZ, RHIF ORI R
IWF—ZFDHTEITI,




eparte = 0.d0O I Initialize some energy-balance
epartd = 0.d0 I tallying parameters (SJW)

ekin = ekein

wtin = 1.0

wtsum = wtsum + wtin I Keep running sum of weights
etot = ekin +iabs(iqin)*RM I Incident total energy (MeV)
availke = etot + igin*RM I Available K.E. (MeV) in system
totke = totke + availke | Keep running sum of KE

ZNA—H—a—F Tk, BE—IRILX—DHF(iqin=0ZD T, FEEX+
) —CHIHASREL-RICEZFERAL TSN, EXMN)—EIZTRILEF—H
BRI (DHLTWSIEE. RO ¥ BT 58K IZIX. eking
RETBHTI)OTIIN—FoBNRE

egSSTHEAT AT RILEF—(shower [ZBIEET I RILE—)[F. £TRIL
X—HDT, aotZHET D, (EF BFEFDEHEEIE. EFTRILF—IC
EFOEHILEEXMAS,



EAM)—BIZHRRDFTRNELEDHHEIZIE, O
_______________________________ SIS RBRDARMERET DIV —FU&HAT

Select incident angle Do

____________________________ -

igin, etot, xin, yin, zin, uin, vin, win, irinn, 2T wtin &EWLWS§HT,

showerZX4—r9 %, .



If (depe .gt. 0.DO) then
le=depe/deltae + 1
if (ie .gt. 50) ie =50
ph(ie)=ph(ie)+wtin
tef=tef + wtin
if(depe .ge. ekein*0.999) pef=pef +wtin
depe =0.D0O

end if

EXAN)—BOREHZLET S, CONEBIBREIE S, BEICIKFT S,

ZDA—HF—O—FTIE, BRHBOMELLAR RAZHETLHEEBRME
LTWADT, BN RIILF—OTHWNMGER X, HEEAMN) —TORESS
FORINIRILF—DEIRILF—BFBBEZRD., TCDEEZ+1T 5, RINT
FILF—DENL, EREMEEZ+IL, RINIRIILF—H AR FOEST
RILXE—LREINBESICIIE—IREDERE+1T S,

COFETR. TRILF—RINZEHHELTHRHSNSELTEREHZIFEITH
ATLAED, HEAIRILF—LULDAZRITET HREREDLERDIFZEIZITE,
E—VREELECHGHENDEIZGLS



Coincidence U anti-coincidence

o & H 558 TcoincidenceXPanti-coincidence® it &
ZITOEED. COFIERIBRICERMN)—IR T &

2. NEE1TS

— Coincidence® 54 1%, coincidence%: LA H 2 DM
HIZIRILF—RRAH--EGEIZOHF EEH D
LUEIRILT—EDEZ+1IEST

— Anti-coincidence 5 & (£, 2, FHEHEBILIS D&

HER ICTRIILEF—IRIRAGEVIGECOH TR
DEZIRILF—EVDEZ+UEOT




A SRR ]

e XEEVTHIOFEIZES>TRKROBZELET S,
« MCNPTHERLTWAEEFFMT BHHE

_ HEXNBEOAS HFITOWTIThA. x X, i-BEOEXE
)—DERTHDHETH

%le X, DFEHE
= DA
N—llz_l’,(x X)* ~ X2 —(x)* (X _—ZXJ
s)%:iszzi[?_xz] X a)ﬁiﬁt&
N



I If some energy is deposited inside detector add pulse-height
I and efficiency.

if (depe .gt. 0.DO) then

le=depe/deltae + 1

if (ie .gt. 50) ie =50

phs(ie)=phs(ie)+wtin

ph2s(ie)=ph2s(ie)+wtin*wtin MCNP®D 75 & TREZFHET 57=0IC.

tefs=tefs + wtin EAN)—BOFHREIREELETDEE

tef2s=tef2s + wtin*wtin DHMZERD D,

if(depe .ge. ekein*0.999) then
pefs=pefs +wtin
pef2s=pef2s +wtin

end if

depe = 0.D0O

end if
do ntype=1,3

do ie=1,50
specs(ntype,ie)=specs(ntype,ie)+spec(ntype,ie)
spec2s(ntype,ie)=spec2s(ntype,ie)+

* spec(ntype,ie)*spec(ntype,ie)

spec(ntype,ie)=0.D0

end do

end do



Step 9: Output-of-results

o MRIREHO. HIRFDI/ED S
—EDHRLGETETHANERI=OHIZHE S
—cgDGEIL. Ik T —3NOEEIRT &

NEZTHELNDT, BEGIFEREZRELTH

R
e EXN)—HI

ZTDEFEM

IZ/Fonf=-> kO EDF&
75\’:3 KO-WLW=DFEHEL

MatBIEEREZFTEL. HNT D



E—J@RH3N=E

avpe = pefs/ncount
pef2s=pef2s/ncount
sigpe=dsqrt((pef2s-avpe*avpe)/ncount)
avpe = avpe*100.0
sigpe = sigpe*100.0
write(6,350) avpe,sigpe
350 FORMAT(' Peak efficiency =',G11.4,'+-',G9.2," %)



ausgab D HEE
e ausgab &, A —H—MEF-IMFRFELHR I ST ITIL—F
VTCHDB
e Nat&EHIBIPTORABEIRILT—DIECER

If (med(irl). eq. 1) then
depe = depe + edepwt

L) —2a>v DMEES (med(irl))HY, 1(Nal)DEF,
BREBPOIRILF—FEENE



ausgab DI HEE

o RBRHBAEHIL, BEHBICAFH LB FOIRILIEHRDICER

if (irl .ne. irold .and. iarg .eq. 0) then «~— 7z DIFFHIZ(HELN. Y—2a 0D EH A
if (igl .eq. 0) then | photon R SED SIS A ST
le = e(np)/deltae +1
If(ie .gt. 50) ie = 50
spg(1.ie) = spg(1,ie) + wt(np)
elseif (iql .eq. -1) then | electron
le = (e(np) - RM)/deltae +1
if(ie .gt. 50) ie = 50
spe(l,ie) = spe(1,ie) + wt(np)
else | positron
ie = (e(np) - RM)/deltae +1
If(ie .gt. 50) ie = 50
spp(1,ie) = spp(1,ie) + wt(np)
end if
end if
end if



howfar® 1% Z||

howfar [X. egs [TV A AN —IZB89 B EHREITZAD YT

JL—F>

howfar [, ustep DEHIZ, J—DaViERNHEIMNEINIE

ARD, HAEGEIZIL.

—ustep ZIERFEFTOIREICEETHRZAS

—imew ZRFMNASTUINK) =3 B SITEHTET
)

LT A, I—F—hVBEAE L HT-UNRIEL (I AR S ) (25E

L=(EHULNZIL, idiscard 755 %112 ET S

FRITLIOFAN)—IL—T 1 BIZEGE>F=howfarklib

— cgFFERALTWWAEEIE. CO1A—Y—a—FDhowfaZx{EHT 5




R E Rl

e EERE1 NABRHBDIHE
— RDFINEBLTC.E—IVHBHENFERVERENEDOEILZRANL,
— {8R%E. Cs137TMHE—I R J)LFX—IF(0.662MeV)IZEZ 5,
— ‘fi}f’é Co-60IZZE % . 1.173MeV E1.33BMeVAFERUERTHRES
LR
— 1.253MeVERIRIZDWNT, —AR(Z-AR) DA ZHH L TSR F
. EHRBRICEET S,
- 1.%53MeV.%7iiJ§’C\ RHEFOARBEEHODESEZ2ET 5,
« ETEE2 . GeREB/NIE
— {RH4Z%E. GelTEEL T, MLRESDNa &, 1.253MeVERIRIZH T
E’_—O&Ué#ﬁﬂj}*}]ﬁttbﬁs‘zﬁ;o
e EERES . EXREHAENDETE
— BHHEZ EK20C. IRENZERICEZ , 1.253MeVIRIRIZXL T, Ik
WRNIARILF—ZRDE, BHBORPDIF vy ITZRE 3 FEE TS
AFREDELDBEOEBLIZES., 5sSmmDAINHBHIKET B,
— ZEROWIE(33.97 eV/panNZBAW T, AFREFUEL-YDZDERHE
Mt 73(Coulomb/source)zkéh &, BIRIR=EZ. 1.602x 101°Cle &9 5,
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